ECSC: SOLUTIONS

1.Be4 zz; 1. - el~, R~, Kb4, Bc2, b4 2.BdS, Qxb5, Bc2, Bd5, Rf3#; 1.Bd3?,
Qg4? b4, elQ!

1.Sf4 thr. 2.e4#, 1. - Qg4/Qh3, Qc6, Bb3, Bxf4 2.Sxa6, Se6, Sxd3, exfd#;
1.Bf4?, Rf4? Bb3!, Qc6!

1.Kg7 thr. 2.Sf6#, 1.-Rdxf2, Rgxf2, Sxf2 2.cxd3, Bxg6, Rxf4#; 1.Rf7?, Bf7?,
S£7?, Qe6? Rxf2!, Sxf2!, Rxf2!, Qxc3!

L.Rf3 thr. 2.Qh4+ ~ 3.Rf4# 1. - Kxc4 2.Rf4+ gxf4 3.Qed#, 1. - Sxc4
2.Rd3+ Bxd3 3.c3#, 1. - Bxc4 2.c3+ Ke4, Kxd5 3.Sf6, Rfo#, 1. - Bd3
2.Rxd3+ Kxc4 3.Qe4/Be3#, 1. - Bxf3 2.Qal+ Kxc4, Ke4 3.Se3, QeS#, 1. - f5
2.Qal+ Kxc4, Ke4 3.Se3, Re3#

1.Se7 thr. 2.Qc7 ~ 3.Sc6#, 1. - Ke5 2.Bxe3 ~ 3.Sgb#, 1. - Qa4/Qxa6 2.Kf4
~ 3.Bxe3#, 1. - Bc7 2.Qb6 ~ 3.Sc6#, 1. - Sbc7 2.Qb5 ~ 3.Sc6#, 1. - Sec7
2.Qe8 ~ 3.Sc6#, 1. - Rd7 2.Qxd7 ~ 3.Sc6#, 1. - Rc8 2.Qxc8 ~ 3.Sco#

1.Se4 thr. 2.c3+ Sxc3 3.Qc5#, 1.- Sc3 2.Bg7 ~, Rxe4 3.Qxe5, Qc5#, 1. - c3
2.Rd8 ~, Bxb4, Bxe4/Kc4 3.Qxd5, Qxb4, Qc5#, 1. - Rxed4 2.Qxd5+ KxdS,
Kc3 3.Rd8, Q/Bd2#, 1. - Bxe4 2.Qxe5+ Kxe5 3.Bg7#, 1. - Kxed4 2.Rf4+ exfd
3.Qxf4#, 1. - Rxbl 2.Qc5+ Kxe4 3.Qe3#

1.Kb3 Scl+ 2.Kxb2 Sd3+ 3.Kc2 Sxel+ 4.Kdl 4. - Sg2 (4. - Sd3 5.Se4 g4
6.5f6+ Ke6 7.Sxg4 (7.Sxe8? g3!) BhS 8.Kd2 =) 5.Se4 (5.Sf3? Bh5!) g4 (5. -
Bh5+ 6.Kd2 g4 7.5f6+) 6.f6+ Ke7 7.Sxg4 Bh5! 8.Ke2 Bxgd+ 9.Kf2 9. -
Sf4/Sh4/Bh3 10.Kg3 =

1.Se4+ (1.Bxd5? alQ =) (1.Ra6? Rd6+ 2.Kf5 Rxc6 =) 1. - Kcl (1. - Ke3? 2.Ra6)
2.Ra6 2. - Re5 (thr. Rxe4 and then Kb2) 3.Sc3 (3.Rxa2? Re6+ =) (3.Kf6? Rxed
4.Bxe4 Kb2 =) 3. - alQ 4.Rxal+ 4. - Kc2! (4. - Kb2? 5.Kf6! and black rook is
trapped) 5.Se2 (5.Sb5? Re6+ 6.Kf7 Rxc6 7.Sd4+ Kb2 =) (5.Sd5? Re6+ 6.Kf5
Rxc6 7.Sb4+ Kb2 =) (5.Kf6? Rc5 =) 5. - Kb2 (5. - Rxe2 6.Ra2+ Kdl, Kd3 7.Bf3,
Bb5+) (5. - Re6+ 6.Kf7 Rxc6 7.Rcl+) 6.Sd4! Kxal 7.Kf6! and rook is trapped 1-
0

1.Bb3+ 1. - d5! (1. - Kh8 2.Bf4 Re2 3.b7 Re8 4.b8Q Rxb8 5.Be5+ Bf6
6.Bxf6#) 2.Bxd5+ (2.Bf4? Rb2 3.Kad Bf2 4.b7 Ba7 =)2.- Kh8 3.Bf4 Bg3!
4Bxg3 Rh5 5b7 Rxd5+ 6.Kb6 Rd8 7.Be5+ (7.Bc7? Rf8 8.Kc6 h5 9.Kd7
Rg8 10.Bd8 Rg7+=)7.-Kg8 8.Bc7 Re8/Rf8 9.Kc6 Kf7 10.Kd7 1-0
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10.

11.

12.

13.

14.

15.

16.

17.

18.

1.Bc3 thr. 2.Rxgd+ Sfa#, 1. - gxh4 2.Rc5+ RxcS5#, 1. - bxc2 2.Sb2+ Rxb2#, 1. -
e5 2.Qxf7+ Rd5#, 1. - £5 2.Qe6+ Rd5#, 1. - Sf~ 2.Se3+ Sxe3#

1.5f1 zz, 1. - gxf1Q/R/Rxf1 2.Qd1+ Ke3 3.Sc2+ bxc2#, 1. - gxfl1B 2.Qxed+ Kd2
3.Rd7+ Bd3#, 1. - gxf1S 2.Rf3+ Se3 3.Qd1+ Rxdl#, 1. - Q/bxa3 2.Rf3+ Kc4
3.8d2+ Sxd2#, 1. - e5 2.Qd1+ Kxc3 3.Qd2+ Sxd2#, 1. - bxc3 2.Qxc3+ Ke2
3.Qd2+ Sxd2#, 1. - Sf2/Sg3 2.Bxe4+ Sxe4 3.Qd2+ Sxd2#

1.Sd1 thr. 2.Qxe4+ Kxe4 3.Sf2+ Kd5 4.e4+ Kd4 5.Be5+ Qxe5#, 1. - exd3 2.Qd7+
Ked 3.Qgd+ Kd5 4.e4+ Kd4 5.Be5+ QxeS5#, 1. - bS 2.Sf4+ Kd6 3.Se6+ Kd5
4.Sc7+ Qxc7 5.Qf7+ Qxf7#, 1. - ¢5 2.Sc3+ Kc4 3.Sxad+ Kd5 4.Sxb6+ Qxb6+
5.Qe6+ Qxeb#

1.Re8 thr. 2.5f6+ Kf4 3.Rxgd+ Kf5 4.Sxd6#, 1. - QxeS5 2.Sc3+ Kd4 3.Se2+ Ked4,
Qxe2 4.5f6, Rd5#, 1. - Bxe5S 2.Sg3+ Kf4 3.Se2+ Ke4 4.Sxd6#, 1. - dxe5 2.Sd6+
Kd4 3.5£5+ Ke4, Rxf5 4.d3, Rd8#, 1. - Qxc2 2.exd6+ Be5 3.Rgxe5+ Kd3 4.Rd5#

1.Rgg7 thr. 2.Rf7+ Sxf7 3.Rxf7#, 1. - Rbe4 2.Sxgd+ Kf5 3.Sxh6+ Kf6 4.Se8+
Rxe8 5.Sgd#; 1. - Reed 2.Se8+ Kf5 3.8Sd6+ Kf6 4.Sxgd+ Rxgd 5.Se8#; 1. - Bxd5
2.Sxd5+ Ke6 3.Sc7+ Kf6 4. Rf7+ Sxf7 5.Rx{7#

1.Bg3 thr. 2.Qxf6+ Sxf6 3.Sc6#; 1. - Sd6 2.Qxc5+ Kxc5 3.Rc7+ Kd4 4.Sc6+ Kc5
5.5a5+ Kd4 6.Sb3#; 1. - Bd6 2.Qxd5+ Kxd5 3.Bb7+ Kd4 4.Sc6+ Kd5 5.Sxb4+
Ke6, Kd4 6.Bc8, Sc2#; 1. - Rxf2 2.Bxf2+ Ke5 3.Rxf7 (thr. 4.Qe6#), 3. - Sd6
4.Qxd6+ Kxd6 5.Bg3+ Sf4 6.Bxf4#, 3. - Bxf7 4.Sxf7+ Kf4 5.Qxd5/Qe6 ~ 6.Q#

1.Qc4 BfS 2.Kd4 Bb2#, 1.Qf5 SxdS 2.Kxe6 Qed#, 1.Rc5 Sg6+ 2.Kxd6 Qxb6H,
1.Bed exf7 2.Kf4 Sg6#

1.Se3 Sa4 2.Sxd5 Ke5 3.Sxb6 Rd1#, 1.Sd3 Be4 2.Sxc5 Kd5 3.Sxd7 Bd4#

1.Bg7 Sxa4 2.Sd1+ Sb2 3.Sc3 Sxd3 4.Sed4+ SeS 5.Sf6 d4 6.Sg8 Sf7#, 1.Qd1+
Kxb2 2.Bg7 Ka3 3.b2 Sxb5 4.b1R Sd6 5.Rb8 Ka2 6.Rg8 Sf7#
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